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NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mªh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i= ekWMy iz’u i=     (Model Question)

d{kk%&d{kk%&d{kk%&d{kk%& 12oh a12oh a12oh a12oh a Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& vFk Z’kkL=vFk Z’kkL=vFk Z’kkL=vFk Z’kkL= Subject:- ECONOMICS
le;%&le;%&le;%&le;%& 3 ?k.Vs3 ?k.Vs3 ?k.Vs3 ?k.Vs Time:- 3 Hours
iw.kk Zd%&iw.kk Zd%&iw.kk Zd%&iw.kk Zd%& 100100100100 Maximum Marks :-  100

funsZ’k&funsZ’k&funsZ’k&funsZ’k& lHkh iz’u vfuok;Z gS AlHkh iz’u vfuok;Z gS AlHkh iz’u vfuok;Z gS AlHkh iz’u vfuok;Z gS A
Attempt all Questions.

¼¼¼¼ i ½½½½ iz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vadiz’u Øekad 1 ls 10 rd vfr y?kqmRrjh; iz’u gS A izR;sd iz’u ij 2 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 30 ’kCn½
Question No. 1 to 10  are very  Short  answer  type question. Each carries
2 marks. (Maximum word limit of answer - 30 words)

¼¼¼¼ i i ½½½½ iz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vadiz’u Øekad 11 ls 18 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 3 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 50 ’kCn½
Question No. 11 to 18  are Short  answer  type question. Each carries 2
marks. (Maximum word limit of answer - 50 words)

¼¼¼¼ i i i ½½½½ iz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vadiz’u Øekad 19 ls 24 rd y?kqmRrjh; iz’u gS A izR;sd iz’u ij 4 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek 75 ’kCn½
Question No. 19 to 24  are Short  answer  type question. Each carries 4
marks. (Maximum word limit of answer - 75 words)

¼¼¼¼ iv ½½½½ iz’u Øekad 25 ls 28 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 25 ls 28 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 25 ls 28 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vadiz’u Øekad 25 ls 28 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 5 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&150 ’kCn½
Question No. 25 to 28  are long answer type question.  Each carries 5
marks. (Maximum word limit of answer - 150 words)

¼¼¼¼v½½½½ iz’u Øekad 29 o 30 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 6 vadiz’u Øekad 29 o 30 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 6 vadiz’u Øekad 29 o 30 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 6 vadiz’u Øekad 29 o 30 rd nh?kZ mRrjh; iz’u gS A izR;sd iz’u ij 6 vad
vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&200 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&200 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&200 ’kCn½vkcafVr gS A ¼mRrj dh vf/kdre ’kCn lhek&200 ’kCn½
Question No. 29 to 30  are long answer type question.  Each carries 6
marks. (Maximum word limit of answer - 200 words)

¼¼¼¼vi ½½½½ iz’u Øekad 17] 18] 23] 24] 27] 28] 29 o 30 esa fodYi fn;s x;s gS Aiz’u Øekad 17] 18] 23] 24] 27] 28] 29 o 30 esa fodYi fn;s x;s gS Aiz’u Øekad 17] 18] 23] 24] 27] 28] 29 o 30 esa fodYi fn;s x;s gS Aiz’u Øekad 17] 18] 23] 24] 27] 28] 29 o 30 esa fodYi fn;s x;s gS A
Options are given with the question No. 17, 18, 23, 24, 27, 28, 29 & 30.

iz’u 1 &iz’u 1 &iz’u 1 &iz’u 1 & O;f"V vFkZ’kkL= dh ,d ifjHkk"kk fyf[k, AO;f"V vFkZ’kkL= dh ,d ifjHkk"kk fyf[k, AO;f"V vFkZ’kkL= dh ,d ifjHkk"kk fyf[k, AO;f"V vFkZ’kkL= dh ,d ifjHkk"kk fyf[k, A   ¼2½  ¼2½  ¼2½  ¼2½
Write a definition of Micro Economics.

iz’u 2 &iz’u 2 &iz’u 2 &iz’u 2 & lef"V vFkZ’kkL= dh fo’ks"krk,Wa fyf[k, A ¼dksbZ nks½lef"V vFkZ’kkL= dh fo’ks"krk,Wa fyf[k, A ¼dksbZ nks½lef"V vFkZ’kkL= dh fo’ks"krk,Wa fyf[k, A ¼dksbZ nks½lef"V vFkZ’kkL= dh fo’ks"krk,Wa fyf[k, A ¼dksbZ nks½   ¼2½  ¼2½  ¼2½  ¼2½
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Write characteristics of Macro Economics. (any two)

iz’u 3 &iz’u 3 &iz’u 3 &iz’u 3 & cktkj ewY; vkSj lkekU; ewY; esa varj crkb, A ¼dksbZ nks½cktkj ewY; vkSj lkekU; ewY; esa varj crkb, A ¼dksbZ nks½cktkj ewY; vkSj lkekU; ewY; esa varj crkb, A ¼dksbZ nks½cktkj ewY; vkSj lkekU; ewY; esa varj crkb, A ¼dksbZ nks½   ¼2½  ¼2½  ¼2½  ¼2½
Differenciate Market price and normal price. (any two)

iz’u 4 &iz’u 4 &iz’u 4 &iz’u 4 & viw.kZ izfr;ksfxrk cktkj ls D;k vk’k; gS Aviw.kZ izfr;ksfxrk cktkj ls D;k vk’k; gS Aviw.kZ izfr;ksfxrk cktkj ls D;k vk’k; gS Aviw.kZ izfr;ksfxrk cktkj ls D;k vk’k; gS A   ¼2½  ¼2½  ¼2½  ¼2½
What do you mean by imperfect competition market ?

iz’u 5 &iz’u 5 &iz’u 5 &iz’u 5 & ^^eqnzk fofue; dk ek/;e gS A** le>kb, A^^eqnzk fofue; dk ek/;e gS A** le>kb, A^^eqnzk fofue; dk ek/;e gS A** le>kb, A^^eqnzk fofue; dk ek/;e gS A** le>kb, A   ¼2½  ¼2½  ¼2½  ¼2½
“Mony is the medium of exchange” Explain.

iz’u 6 &iz’u 6 &iz’u 6 &iz’u 6 & C;kt dh ,d ifjHkk"kk fyf[k, AC;kt dh ,d ifjHkk"kk fyf[k, AC;kt dh ,d ifjHkk"kk fyf[k, AC;kt dh ,d ifjHkk"kk fyf[k, A   ¼2½  ¼2½  ¼2½  ¼2½
Write a definition of interst.

iz’u 7 &iz’u 7 &iz’u 7 &iz’u 7 & vkuqikfrd dj fdls dgrs gSa \vkuqikfrd dj fdls dgrs gSa \vkuqikfrd dj fdls dgrs gSa \vkuqikfrd dj fdls dgrs gSa \   ¼2½  ¼2½  ¼2½  ¼2½
What is proportional Tax ?

iz’u 8 &iz’u 8 &iz’u 8 &iz’u 8 & y?kq v|ksx ls D;k vk’k; gS \y?kq v|ksx ls D;k vk’k; gS \y?kq v|ksx ls D;k vk’k; gS \y?kq v|ksx ls D;k vk’k; gS \   ¼2½  ¼2½  ¼2½  ¼2½
What do you mean by small scale industries ?

iz’u 9 &iz’u 9 &iz’u 9 &iz’u 9 & Hkkjr esa dqVhj m|ksx dh leL;k,Wa fyf[k, A ¼dksbZ nks½Hkkjr esa dqVhj m|ksx dh leL;k,Wa fyf[k, A ¼dksbZ nks½Hkkjr esa dqVhj m|ksx dh leL;k,Wa fyf[k, A ¼dksbZ nks½Hkkjr esa dqVhj m|ksx dh leL;k,Wa fyf[k, A ¼dksbZ nks½   ¼2½  ¼2½  ¼2½  ¼2½
Write problems of cottage Industries in India. (any two)

iz’u 10 &iz’u 10 &iz’u 10 &iz’u 10 & jk"Vªh; vk; ls D;k vk’k; gS \jk"Vªh; vk; ls D;k vk’k; gS \jk"Vªh; vk; ls D;k vk’k; gS \jk"Vªh; vk; ls D;k vk’k; gS \   ¼2½  ¼2½  ¼2½  ¼2½
What do you mean by national Income ?

iz’u 11 &iz’u 11 &iz’u 11 &iz’u 11 & O;f"V ,oa lef"V vFkZ’kkL= esa varj fyf[k, A ¼dksbZ rhu½O;f"V ,oa lef"V vFkZ’kkL= esa varj fyf[k, A ¼dksbZ rhu½O;f"V ,oa lef"V vFkZ’kkL= esa varj fyf[k, A ¼dksbZ rhu½O;f"V ,oa lef"V vFkZ’kkL= esa varj fyf[k, A ¼dksbZ rhu½   ¼3½  ¼3½  ¼3½  ¼3½
Write differences between micro and macro Economics. (any two)

iz’u 12 &iz’u 12 &iz’u 12 &iz’u 12 & vfr vYidky esa ewY; fu/kkZj.k dks js[kkfp= lfgr le>kb, Avfr vYidky esa ewY; fu/kkZj.k dks js[kkfp= lfgr le>kb, Avfr vYidky esa ewY; fu/kkZj.k dks js[kkfp= lfgr le>kb, Avfr vYidky esa ewY; fu/kkZj.k dks js[kkfp= lfgr le>kb, A   ¼3½  ¼3½  ¼3½  ¼3½
Explain with diagram of price determination in very short period.

iz’u 13 &iz’u 13 &iz’u 13 &iz’u 13 & Hkkjrh; fjtoZ cSaad ds rhu dk;Z fyf[k, AHkkjrh; fjtoZ cSaad ds rhu dk;Z fyf[k, AHkkjrh; fjtoZ cSaad ds rhu dk;Z fyf[k, AHkkjrh; fjtoZ cSaad ds rhu dk;Z fyf[k, A   ¼3½  ¼3½  ¼3½  ¼3½
Write three functions of reserve Bank of India.

iz’u 14 &iz’u 14 &iz’u 14 &iz’u 14 & forj.k ds fy, i`Fkd fl)kar dh vko’;drk D;ksa iM+h \ dksbZ rhu dkj.kforj.k ds fy, i`Fkd fl)kar dh vko’;drk D;ksa iM+h \ dksbZ rhu dkj.kforj.k ds fy, i`Fkd fl)kar dh vko’;drk D;ksa iM+h \ dksbZ rhu dkj.kforj.k ds fy, i`Fkd fl)kar dh vko’;drk D;ksa iM+h \ dksbZ rhu dkj.k
fyf[k, Afyf[k, Afyf[k, Afyf[k, A        ¼3½       ¼3½       ¼3½       ¼3½
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Why was necessity of a separate theory of distribution. Write any three
causes.

iz’u 15 &iz’u 15 &iz’u 15 &iz’u 15 & futh foRr ,oa lkoZtfud foRr esa dksbZ rhu lekurk,Wa fyf[k, Afuth foRr ,oa lkoZtfud foRr esa dksbZ rhu lekurk,Wa fyf[k, Afuth foRr ,oa lkoZtfud foRr esa dksbZ rhu lekurk,Wa fyf[k, Afuth foRr ,oa lkoZtfud foRr esa dksbZ rhu lekurk,Wa fyf[k, A   ¼3½  ¼3½  ¼3½  ¼3½
Write any three similarities between Private Finance and Public Finance.

iz’u 16 &iz’u 16 &iz’u 16 &iz’u 16 & phuh m|ksx dh rhu leL;k,a fyf[k, Aphuh m|ksx dh rhu leL;k,a fyf[k, Aphuh m|ksx dh rhu leL;k,a fyf[k, Aphuh m|ksx dh rhu leL;k,a fyf[k, A   ¼3½  ¼3½  ¼3½  ¼3½
Write any three problems of sugar Industry.

iz’u 17 &iz’u 17 &iz’u 17 &iz’u 17 & ^^funsZ’kkad vkfFkZd cSjksehVj ds leku gksrk gS A Li"V dhft, A^^funsZ’kkad vkfFkZd cSjksehVj ds leku gksrk gS A Li"V dhft, A^^funsZ’kkad vkfFkZd cSjksehVj ds leku gksrk gS A Li"V dhft, A^^funsZ’kkad vkfFkZd cSjksehVj ds leku gksrk gS A Li"V dhft, A   ¼3½  ¼3½  ¼3½  ¼3½
“Index Numbers are as same as the Economic Barometer.” Explain.

vFkok vFkok vFkok vFkok (OR)

^^funsZ’kkad dh mi;ksfxrk fyf[k, A ¼dksbZ rhu½^^funsZ’kkad dh mi;ksfxrk fyf[k, A ¼dksbZ rhu½^^funsZ’kkad dh mi;ksfxrk fyf[k, A ¼dksbZ rhu½^^funsZ’kkad dh mi;ksfxrk fyf[k, A ¼dksbZ rhu½
Write utility of Index Number. (any three)

iz’u 18 &iz’u 18 &iz’u 18 &iz’u 18 & Hkkjr esa f’kf{kr csjkstxkjh ds dkj.k fyf[k, A ¼dksbZ rhu½ ¼1$1$1½ ¼3½Hkkjr esa f’kf{kr csjkstxkjh ds dkj.k fyf[k, A ¼dksbZ rhu½ ¼1$1$1½ ¼3½Hkkjr esa f’kf{kr csjkstxkjh ds dkj.k fyf[k, A ¼dksbZ rhu½ ¼1$1$1½ ¼3½Hkkjr esa f’kf{kr csjkstxkjh ds dkj.k fyf[k, A ¼dksbZ rhu½ ¼1$1$1½ ¼3½
Write the causes of Educated unemployment in India. (any three)

vFkok vFkok vFkok vFkok (OR)

xjhch js[kk dh vo/kkj.kk dks le>kb, Axjhch js[kk dh vo/kkj.kk dks le>kb, Axjhch js[kk dh vo/kkj.kk dks le>kb, Axjhch js[kk dh vo/kkj.kk dks le>kb, A
Explain the concept of Poverty line.

iz’u 19 &iz’u 19 &iz’u 19 &iz’u 19 & ykHk njksa esa fHkUurk ds dkj.k fyf[k, A ¼dksbZ pkj½ykHk njksa esa fHkUurk ds dkj.k fyf[k, A ¼dksbZ pkj½ykHk njksa esa fHkUurk ds dkj.k fyf[k, A ¼dksbZ pkj½ykHk njksa esa fHkUurk ds dkj.k fyf[k, A ¼dksbZ pkj½   ¼1$1$1$1½ ¼4½  ¼1$1$1$1½ ¼4½  ¼1$1$1$1½ ¼4½  ¼1$1$1$1½ ¼4½
Write causes of differenciation in rate of profit (any four)

iz’u 20 &iz’u 20 &iz’u 20 &iz’u 20 & izR;{k dj ,oa vizR;{k dj ds nks&nks mnkgj.k fyf[k, AizR;{k dj ,oa vizR;{k dj ds nks&nks mnkgj.k fyf[k, AizR;{k dj ,oa vizR;{k dj ds nks&nks mnkgj.k fyf[k, AizR;{k dj ,oa vizR;{k dj ds nks&nks mnkgj.k fyf[k, A      ¼2$2½     ¼2$2½     ¼2$2½     ¼2$2½
Write two examples of Direct and Indirect Taxes.

iz’u 21 &iz’u 21 &iz’u 21 &iz’u 21 & jk"Vªh; vk; ,oa jk"Vªh; ys[kkadu esa vUrj fyf[k, A ¼dksbZ pkj½    ¼4½jk"Vªh; vk; ,oa jk"Vªh; ys[kkadu esa vUrj fyf[k, A ¼dksbZ pkj½    ¼4½jk"Vªh; vk; ,oa jk"Vªh; ys[kkadu esa vUrj fyf[k, A ¼dksbZ pkj½    ¼4½jk"Vªh; vk; ,oa jk"Vªh; ys[kkadu esa vUrj fyf[k, A ¼dksbZ pkj½    ¼4½
Write difference  between  National  Income  and  National  Income
Accounting. (any four)

iz’u 22 &iz’u 22 &iz’u 22 &iz’u 22 & izfr O;fDr vk; dks lw= lfgr le>kb, Aizfr O;fDr vk; dks lw= lfgr le>kb, Aizfr O;fDr vk; dks lw= lfgr le>kb, Aizfr O;fDr vk; dks lw= lfgr le>kb, A   ¼4½  ¼4½  ¼4½  ¼4½
Explain with formula of per capital Income.
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iz’u 23 &iz’u 23 &iz’u 23 &iz’u 23 & lk/kkj.k ,oa Hkkfjr funsZ’kkad esa vUrj fyf[k, A ¼dksbZ pkj½lk/kkj.k ,oa Hkkfjr funsZ’kkad esa vUrj fyf[k, A ¼dksbZ pkj½lk/kkj.k ,oa Hkkfjr funsZ’kkad esa vUrj fyf[k, A ¼dksbZ pkj½lk/kkj.k ,oa Hkkfjr funsZ’kkad esa vUrj fyf[k, A ¼dksbZ pkj½   ¼4½  ¼4½  ¼4½  ¼4½
Write differences between simple Index Numbers and weighed Index
Numbers. (any four)

vFkok vFkok vFkok vFkok (OR)

fuEukafdr vkadM+ksa ls ySfLi;j fof/k ls Hkkfjr lewgh jhfr }kjk funsZ’kkad dhfuEukafdr vkadM+ksa ls ySfLi;j fof/k ls Hkkfjr lewgh jhfr }kjk funsZ’kkad dhfuEukafdr vkadM+ksa ls ySfLi;j fof/k ls Hkkfjr lewgh jhfr }kjk funsZ’kkad dhfuEukafdr vkadM+ksa ls ySfLi;j fof/k ls Hkkfjr lewgh jhfr }kjk funsZ’kkad dh
jpuk dhft, &jpuk dhft, &jpuk dhft, &jpuk dhft, &      ¼lw= 1 vad] gy 2 vad] mRrj 1 vad½     ¼lw= 1 vad] gy 2 vad] mRrj 1 vad½     ¼lw= 1 vad] gy 2 vad] mRrj 1 vad½     ¼lw= 1 vad] gy 2 vad] mRrj 1 vad½

Find out the Index number by Aggrigative method by Laspeyre’s method
with the help of the following data.

iz’u 24 &iz’u 24 &iz’u 24 &iz’u 24 & fu/kZurk nwj djus ds dkbZ pkj mik; crkb, Afu/kZurk nwj djus ds dkbZ pkj mik; crkb, Afu/kZurk nwj djus ds dkbZ pkj mik; crkb, Afu/kZurk nwj djus ds dkbZ pkj mik; crkb, A  ¼4½ ¼4½ ¼4½ ¼4½
Give suggestion for removal of poverty. (any four)

vFkok vFkok vFkok vFkok (OR)

Hkkjr esa {ks=h; vlekurk ds izeq[k pkj dkj.kksa dks le>kb, AHkkjr esa {ks=h; vlekurk ds izeq[k pkj dkj.kksa dks le>kb, AHkkjr esa {ks=h; vlekurk ds izeq[k pkj dkj.kksa dks le>kb, AHkkjr esa {ks=h; vlekurk ds izeq[k pkj dkj.kksa dks le>kb, A
Describe main four causes of Regional Imbalance in India.

iz’u 25 &iz’u 25 &iz’u 25 &iz’u 25 & eqnzk izlkj ,oa eqnzk ladqpu esa vUrj fyf[k, A ¼dksbZ ikap½eqnzk izlkj ,oa eqnzk ladqpu esa vUrj fyf[k, A ¼dksbZ ikap½eqnzk izlkj ,oa eqnzk ladqpu esa vUrj fyf[k, A ¼dksbZ ikap½eqnzk izlkj ,oa eqnzk ladqpu esa vUrj fyf[k, A ¼dksbZ ikap½  ¼5½ ¼5½ ¼5½ ¼5½
Write differences between Inflation and deflation. (any five)

             vk/kkj o"kZ”             vk/kkj o"kZ”             vk/kkj o"kZ”             vk/kkj o"kZ”  pkyw o"kZ pkyw o"kZ pkyw o"kZ pkyw o"kZ

oLrq,W aoLrq,W aoLrq,W aoLrq,W a ek=kek=kek=kek=k ewY;ewY;ewY;ewY; ek=kek=kek=kek=k ewY;ewY;ewY;ewY;

A 2222 4444 3333 6666

B 4444 5555 6666 7777

C 6666 3333 7777 4444

D 3333 2222 5555 3333

                                                     Base Year””””     Current Year

 Items  Quantity Price Quantity Price

A 2222 4444 3333 6666

B 4444 5555 6666 7777

C 6666 3333 7777 4444

D 3333 2222 5555 3333
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iz’u 26 &iz’u 26 &iz’u 26 &iz’u 26 & ,d vPNs eqnzk & inkFkZ ds xq.k fyf[k, A ¼dksbZ ikap½,d vPNs eqnzk & inkFkZ ds xq.k fyf[k, A ¼dksbZ ikap½,d vPNs eqnzk & inkFkZ ds xq.k fyf[k, A ¼dksbZ ikap½,d vPNs eqnzk & inkFkZ ds xq.k fyf[k, A ¼dksbZ ikap½  ¼5½ ¼5½ ¼5½ ¼5½
Write merits of a Good Money material. (any five)

iz’u 27 &iz’u 27 &iz’u 27 &iz’u 27 & fjdkMks Z ds xgu [ksrh ds vUrxZr yxku dh lfp= O;k[;k dhft, AfjdkMks Z ds xgu [ksrh ds vUrxZr yxku dh lfp= O;k[;k dhft, AfjdkMks Z ds xgu [ksrh ds vUrxZr yxku dh lfp= O;k[;k dhft, AfjdkMks Z ds xgu [ksrh ds vUrxZr yxku dh lfp= O;k[;k dhft, A
¼rkfydk ij 1] O;k[;k ij 2] js[kkfp= ij 2 vad½¼rkfydk ij 1] O;k[;k ij 2] js[kkfp= ij 2 vad½¼rkfydk ij 1] O;k[;k ij 2] js[kkfp= ij 2 vad½¼rkfydk ij 1] O;k[;k ij 2] js[kkfp= ij 2 vad½  ¼5½ ¼5½ ¼5½ ¼5½
Explain with diagram of “Rent under Intensive cultivation.”

vFkok vFkok vFkok vFkok (OR)

yxku rFkk vkHkkl yxku esa vUrj fyf[k, A ¼dksbZ ikap½yxku rFkk vkHkkl yxku esa vUrj fyf[k, A ¼dksbZ ikap½yxku rFkk vkHkkl yxku esa vUrj fyf[k, A ¼dksbZ ikap½yxku rFkk vkHkkl yxku esa vUrj fyf[k, A ¼dksbZ ikap½
Write difference between Rent and Quasi Rent. (any five)

iz’u 28 &iz’u 28 &iz’u 28 &iz’u 28 & jk"Vªh; vk; ys[kk iz.kkyh fdls dgrs gS \ jk"Vªh; vk; ys[kk iz.kkyh dhjk"Vªh; vk; ys[kk iz.kkyh fdls dgrs gS \ jk"Vªh; vk; ys[kk iz.kkyh dhjk"Vªh; vk; ys[kk iz.kkyh fdls dgrs gS \ jk"Vªh; vk; ys[kk iz.kkyh dhjk"Vªh; vk; ys[kk iz.kkyh fdls dgrs gS \ jk"Vªh; vk; ys[kk iz.kkyh dh
fo’ks"krk,Wa fyf[k, A ¼dksbZ rhu½fo’ks"krk,Wa fyf[k, A ¼dksbZ rhu½fo’ks"krk,Wa fyf[k, A ¼dksbZ rhu½fo’ks"krk,Wa fyf[k, A ¼dksbZ rhu½ ¼5½¼5 ½¼5 ½¼5 ½
What is National Income Account system ? Write any three characteris-
tics of National Income Account system.

vFkok vFkok vFkok vFkok (OR)

Hkkjr esa jk"Vªh; vk; o`f) ds dksbZ ikap lq>ko fyf[k, AHkkjr esa jk"Vªh; vk; o`f) ds dksbZ ikap lq>ko fyf[k, AHkkjr esa jk"Vªh; vk; o`f) ds dksbZ ikap lq>ko fyf[k, AHkkjr esa jk"Vªh; vk; o`f) ds dksbZ ikap lq>ko fyf[k, A
Write any five suggestion for rising national Income in India.

iz’u 29 &iz’u 29 &iz’u 29 &iz’u 29 & C;kt ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, AC;kt ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, AC;kt ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, AC;kt ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, A ¼6½¼6 ½¼6 ½¼6 ½
Describe with diagram of Modern theory of Interest.

vFkok vFkok vFkok vFkok (OR)

etnwjh ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, Aetnwjh ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, Aetnwjh ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, Aetnwjh ds vk/kqfud fl)kar dh lfp= O;k[;k dhft, A
Describe with diagram of Modern theory of wages.

iz’u 30 &iz’u 30 &iz’u 30 &iz’u 30 & djkjksi.k ds fl)karksa dh O;k[;k dhft, A ¼dksbZ N%½djkjksi.k ds fl)karksa dh O;k[;k dhft, A ¼dksbZ N%½djkjksi.k ds fl)karksa dh O;k[;k dhft, A ¼dksbZ N%½djkjksi.k ds fl)karksa dh O;k[;k dhft, A ¼dksbZ N%½ ¼6 ½¼6 ½¼6 ½¼6 ½
Explain any six canons of Taxation.

vFkok vFkok vFkok vFkok (OR)

^^vf/kdre lkekftd ykHk dh fl)kar** dh lfp= O;k[;k dhft, A^^vf/kdre lkekftd ykHk dh fl)kar** dh lfp= O;k[;k dhft, A^^vf/kdre lkekftd ykHk dh fl)kar** dh lfp= O;k[;k dhft, A^^vf/kdre lkekftd ykHk dh fl)kar** dh lfp= O;k[;k dhft, A
Describe with diagram of “Theory of Maximum Social Advantage”

------------xx------------


